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H & 0o & AF S A A
2022 & =0l A LBHE A H
SN BEHCHIANLA
M FFUC 29
Crel: BRWO SREES (el &9)
SRE}
SN BA(SA) - MRAY - BES 0l &t o il HImEET
HEuc YL 5,070,451 5,132,739 ~62,288
= 595,000
= 131,000
Al 4,344,451
e 29 4,009, 182 4,011,383 72,201
= 595,000
< 131,000
Al 3,283,182
pBAO 2REF 219,821 333,984 A114,163
sXEsE 29 216,721 213,227 3,494
201 LBt b 97,945 92,551 5,394
01 AL 2tel | 81,875 76,681 5,194
OHZFYE 28 ¢ oS M 13,460
ONZ= HMEZ2I8 oty ZE3
950! * 7,0000H 6,650
Oz L ALY S E22 ME
85,5002 * 203 1,710
OXOUA StLts FZVE 22ANS HE
5,100,000 5,100
OMEZZId LA+ 65,100
O'SEBUSHE' A
100,0008 * 3% * 23 600
O'g-elna’ A+
100,0008 * 3% * 93 2,700
O' X0l 4K MEfStD ' AL
100,0008 * 4% * 53 2,000
O'QA0E NEHE0IY' ALY
100,0008 * 4% * 63 2,400
OJSHaHENS T2 ALY 23,500
—Husg 100,0008 * 3% * 613 18,300
—Fag 100,0008! * 2% * 263 5,200
O'STIZ2AE T2’ ALY
100,0009 = 3% * 803l 24,000
O'HAMAEH MBT2IY' AALY
100,0008 = 6% * 103 6,000
O'SSnA' ALY
100,0008! * 2% * 123 2,400
OSSME HEA ZAZY < 22D
500,0008! * 33l 1,500
OXNASAX I=HI(HHE=<01)
90,0008 * 16% 1,440
OSSMHMHAA 20T HME
95,0002 * 108l 950
OSSMH HEAN 2SHEE 95,0002 * 53 475
OSSME HaA TI=h| 450
oR|uUE 90,0008 * 3% 270




N & O & & F A
= AF 28BS H AT
el At A
2
EREE o E)
BB - Sl (31) - NRAY - BES Ol &+ o4 il 2
O F 3t 60,0002 » 3H 180
02 2324l 150 150 0
O==EH HE A o2& =2 50,0008 * 3H 150
03 A2 Z Hl 15,920 15,720 200
ONgole At 8,970
Ogt=J] & S&OX 650,000 » 30H A 1,950
Osg3d(0ts 8) 900,000& * 73 6,300
Og==9, i S 120,000& * 28 » 3= 720
e e thal 5,750
o g2 100& = 10,000& 1,000
OstAl #+¢ 500& = 1,500%& 750
Oo&z M= 10,0008 * 100 1,000
OJIE3 WM& 5,000& = 5004 2,500
O MR =¢ 100,000& * 59 500
O==MEH HEA A=A 200,000& = 13l 200
O==SMEH SHE A HEIOIE A}
1,000,000 * 13l 1,000
203 YR =&l 2,000 2,000 0
03 Al Z=XH R =AH| 2,000 2,000 0
OAES HFHEZA2IMSE L 2
2,000,000& 2,000
206 M= Hl 51,400 51,800 A 400
01 =8l 51,400 51,800 A 400
OMEZ=z2d WMz 44,900
O'"3ad MZAHE' ME  250,000& * 53 1,250
O'SgA=HE"' MZ 700
-BHeEH 100,000& * 12K 100
—EHEH SEMZ 6,000& = 1009H 600
OCgselud Mz 7,200
=23 AWM 10,0002 * 300 3,000
-X=et g AW 8,000& 300 2,400
-g el SHME 6,000& » 3009 1,800
O'XMNANUHX MEHstw' HZ(105)
8,000& = 35% = 103l 2,800
O'2Zot=E JIEME0Y ' ME(108)
3,000& = 250H =« 83l 6,000
OJI=HIMEEZZOYH M
3,000& = 3,7004H 11,100
OO0t d2wa Mz 5,0008 * 250 1,250
OsgZ Mg Z208 M=
4,000& = 500 2,000
O'gzdzdE Z2d Mz 9,600
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SJIUA XME, HolHmoEH S
3,000& * 2& * 1,600 9,600
O'ssuWd' M= 10,000& * 50 * 63 3,000
OYHEE(&=ASH) 13,0002 * 5004 6,500
301 dEtEX = 62,476 62,476 0
09 HALAHIXI &2 62,476 62,476 0
O3S ALA &l K& 51,616
Os At s &bl 10,000& = 169 * 313 50,080
O3z e #FAX Z2EHI
8,000& * 169 = 123 1,536
O==MEH HEA SSH| 10,860
O& st 60,000& = 181 10,860
307 QI2t0| M 900 900 0
01 elz2d2=H| 900 900 0
O A2z AEH| 150,000& * 63| 900
405 X+HoHF SHI 2,000 3,500 A 1,500
02 &S A7 bl 2,000 2,000 0
OJIZHSNE2 22 &N 2
12,500& * 1603 2,000
B2 Y2NHEH 29 3,100 120,757 N 117,657
405 XHakF SHI 3,100 14,248 A 11,148
01 A&t = S F SHI 3,100 12,248 N9, 148
OSEJ UEA HH 23+ 3,100
Ogws &a&H 1,500,000& * 104 1,500
[OE=R=E-=-1yl 1,000,000& = 1CH 1,000
Oxsas & 300,000& * 1H 300
OLSAE =X 300,000& * 1H 300
SZHEAIE Y JAS A2 3,789,361 3,677,399 111,962
= 595,000
< 131,000
Al 3,063,361
A 2HE AlA 22 1,072,913 1,030,732 42,181
101 2124 1| 251,050 220,682 30,368
04 JI2ZtHZ2E2XNEE > 251,050 220,682 30,368
OJIZHMZZX B (SEZR) 198,471
oJN=3 81,340 » 26 = 5% * 12& 126,891
Oz 122,010& » 59 x 79¢ 48,194
OY &SIyl 200,000 * 5% * 23] 2,000
O=XNEAE 300,000 * 5% = 13| 1,500
o1l =t 90,000& = 59 450
o4HEeg = 19,436
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-HAEE 177,084,350& * 3.43% 6,074
A AYEE 6,074,000 * 11.52% 700
-1s8EE 177,084,350& * 1.65% 2,922
~MTHE S 177,084,350 * 1.00% 1,771
OJIZHZ2=2 X B2 (33F MaH=el) 8,461
oJl=3 73,2803 * 2 x 262 * 2& 7,622
O4HEEE J|I28EZ 839
-=0lH= 7,622,000& * 4.50% 343
-AH2LEE 7,622,000 * 3.43% 262
- YL 262,000 * 11.52% 31
-1EYE 7,622,000 * 1.65% 126
“MTHEE 7,622,000& * 1.00% 77
OJIZINZZ2X B (S22 HEL) 44,118
oJN=3 73,2803 * 2% x 26 » 9F 34,296
Oz 109,920& * 1Y x 46Y 5,057
Y& S| 200,000& * 29 = 13| 400
o4Eeg = 4,365
= 39,751,360 * 4.50% 1,789
-AHAEE 39,751,360& * 3.43% 1,364
A YT E 1,363,470& = 11.52% 158
-1s82E 39,751,360& * 1.65% 656
-MTHE S 39,751,360& * 1.00% 398
201 et A | 396,338 362,120 34,218
01 At 2+2/H 150,834 119,409 31,425
Ofotd &2 A = H| 600
OfIg= ot 22| Xt 110,000& * 2YH 220
OAag otd 22| Xt 220,000& * 194 220
OJIAEBl X &2 X 160,000& * 1H 160
ode4d dx= 20,000 ~ 1404 = 12& 3,360
Os&I| HIIEAMN =2 180,000& = 404 720
OFZEZEAN =22 930
OM===x 60,000& * 4 A 240
OMEs> 140,000& * 34 4 420
oss=+ 270,000& * 1A 270
OJIHEH &= 22,000,000& * 13 22,000
OLF A2 S22 R2UHE =2 92,424
oYt A= 930,000& * 12& 11,160
OAgtortA 2te| 720,000& « 12& 8,640
O2a=xHelAlE sX2el
1,410,000& = 12& 16,920
O==2 S22l 62,0008 * 694 + 12& 4,464
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O&EI| otd 2te| 17,400
- elol & 550,000& * 20 A » 128 13,200
-=2¥ 350,000 * 14 + 12& 4,200
O&2J| etz 220,000 = 4C0H » 12& 10,560
OATHANH X2 =Xl 22
820,000& = 12& 9,840
OJI=¥stdEa sXlaa
520,000& = 123 6,240
OHM3& s 2el 600,000& » 12& 7,200
O3 &= S 5,000,000& * 28 10,000
O3F M= FIIAEEZH  8,500,0008 * 23] 17,000
Os=sd g4&¥d EX +g 5,000& = 1908 950
Os2d A2 HII=2 HMeltl
950,000& * 33 2,850
2324l 245,504 242,711 2,793
OA&ZEH ®Xdl 83,092
ORIANE = 20,000,000& * 104 20,000
o728 = 12,500,000& 12,500
O&Il, sS4 &l =4 20,000,000& 20,000
OfU&EY =« 2,000,000 2,000
OAITHAO L XI2 EHl =& 5,000,000& 5,000
OJI=d¥HstdE 2 EHl =& 5,000,000 5,000
Ot & 2x54H =4 10,000, 000& 10,000
OHM3& Hdl==H 5,000,000& 5,000
Os22 ¢ £ Mt A2+ 3,592
-2AI 2 M HW 26,140,000& * 8% 2,092
-2HAI 2 M SW 15,000,000& * 10% 1,500
OAMZ A W D10 =704 20,893
ORI1TEAIZ 24|
889& * BAIZE = 1L = 2JHA * 100 1,067
O EH 2 889& = BAIZt = 11L = 100 7,824
O=ss¥ 889& * 9AIZt *» 15L » 100 12,002
O=2d =& 282 S &l
5,000,000 * 204 10,000
o=93 F& 2,700,000& = 23| 5,400
O3sE HFA 10,000,000& * 13l 10,000
Ozd= RAE=H 73,019
O0eolal & 4,8983 « 4,313m’ 21,126
O0eolal & M2t 4,898& = 2,460m 12,050
Ogols 2 Moz 4,288% = 2,975m 12,757
Oogols 2 HM3z 3,7673 « 3,849m 14,500
O=2d & 2 433 4,288 * 2,935m 12,586
oOxZ+ |2 42,000
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OFESAM 15,000,000& * 23] 30,000
Og =i g Al 6,000,000& = 23| 12,000
OAAZAIE HIIS EHH 1,100, 000& 1,100
206 M= Hl 82,430 81,930 500
01 MHZ 4l 82,430 81,930 500
OoAgze B3 & 423 54,930
Osztda dES Rl & 3 E
190,000& » 1100 4 25,080
OgS F0H 30,000& = 108 = 504 1,500
OdHeEE 2 XgRI (=22, 22, 32)
30,000& = 10& = 1004 3,000
Oty 2 20,0003 = 108 » 64 1,200
OLHRE 60,000& = 5& = 8K 2,400
OQHEIIRE 40,000% * 158 = 5JH 3,000
OATHMMUH X2 2= 8,400
-2 ZEH EH Y
100,000& = 2& = 204 « 63l 2,400
-HIOZ2AH g2 28 600,000& * 1004 6,000
OJI=HstdEga 2SME 8,400
202 DRlE §Y P
100,000& = 2& = 204 ~ 63l 2,400
-HIOZ2AEH g2 28 600,000& * 10CH 6,000
OFS ¥ FHEYY 29 1,950
-EHe2=E Zetdx 250,000 * 250
-EH 29 oEd 200,000& 200
NS #HE 500,000 ~* 1,000
-HANYAE BFH 25 250,000 * 500
Oo=sMazgasdxd ey
100,000& = 21,000
OYHEE Y (SSYAYARA) 6,500
O&a=H 13,000& * 6,500
305 a2 S 700 700 0
01 tia=8 700 700 0
O==23 Ex2 Iloi24=3 100,000 700
307 gl2tol & 140,770 130,800 9,970
05 BIZERI & 3 140,770 130,800 9,970
OFFHHE o1 AHEA A 122,770,000& 122,770
OFF=dHE 2o JHES A=
1,500,000& * 12& 18,000
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OBosS ¥ =5 MIA4E E= 20,000,000 20,000
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OSH&dEZHE EH % HIISXe
15,000,000& * 1JH 2 15,000
O=s23Xdt+= SHEZ X
4,950,000& = 404 19,800
OM12 AH WIS A 59,000
OFZTEA LIS A 22,000,000 » 1004 22,000
O&HEN & XNEHIES Hel
22,000,000& * 1JH =2 22,000
Odl A& X 8,500,000& * 1JHA 8,500
OXEs JI+ EXSA
6,500,000& * 1JHA 6,500
OO 0lM&Ea W) o M) FH 3
A 5,500,000& 5,500
OCT ZAtd AEa 8 ZX SAF
20,000, 000& 20,000
O==3 LENUEH 0d X SAt
10,000, 000& 10,000
405 XHoHF S HI 6,325 700 5,625
01 AL EZFH S 6,325 700 5,625
OZdla, daA AT & 800,000& * 2K 1,600
O&IIMsI ¢ 1,575,000& * 3O 4,725
s=2d2 & As2e 507,103 499,688 7,415
201 £B-2dH| 52,711 53,595 A 884
01 At 22/l 48,711 50,595 A 1,884
OsE dzgad FHl =81 3,046
OgIA=) =81 X 1,051
-5 1,599& = 204 = 15L » 12&8 576
-=&Hl 237,500& = 204 475
OMMEsLD = 285,000& = 23| 570
SSd= ZAEH =& 95,0008 « 1504 1,425
ElHIAL 2= HMelE FHl gz
665,000 * 43 2,660
os=dz 2gdl 475,000& = 103 4,750
Olld=E S& X KA A
95,000& = 53| 475
Oz HIIE Hel ==8 570,000& * 43 2,280
O=s=&d 2228 s 7¢ 190,000& * 193] 3,610
OS2 A CCTV & XtE 40,0003 » 320H » 12&8 15,360
Os=S XA MESZ A 50,000& = 38A 1,900
OsSAtHl ™Mel === 950& = 1,000Kg 950
Os=d otuer M= 50,000& = 4004 2,000
Oss &8 M& 300,000& » 1694 2 4,800
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oOssaelZ20d RAE>
220,000& = 12& 2,640
OSE2s ¥ S2Y IYNY YN
380,000& = 83l 3,040
Oscl?IEs &4 =52 & el 24 = 1,200
Os29¥s BN 42
100,000 * 421 = 23] 800
O&Hel 4 =¥ 50,000& = 491 = 23| 400
02 =224l 4,000 3,000 1,000
OS2 =23+ 23l (KAZA) 3|
4,000,000& = 13l 4,000
206 M= Hl 449,794 419,843 29,951
01 M= 4l 449,794 419,843 29,951
OXE ¥ HAE A4F S 7 34,000
OA%E+Y 100,000& » 25& » 12&8 30,000
(OFSE=2=E gy 40,000& = 1005 4,000
O=s=s3d 2223 Y
50,000& = 456& = 123/ 27,000
OsS A 22|28 2024 25,000& = 100m’ 2,500
O=s2 A E=s&H Mz 7+ 20,0008 5004 1,000
O=2 Mg 7 2,600 * 4060t2] * 365 385,294
307 21201 A 350 350 0
01 922724l 350 350 0
A MAES WEE S 50,000& = 79H 350
405 XHoHF S HI 4,248 25,900 A 21,652
01 et ESFH S 1,848 23,500 AN 21,652
OMSAL FEHA 235 7€ 1,848
OJEHos(s128) 230,000& = 204 460
Oet2X A (32 ) 266,000 = 304 798
Ol & (5EH) 135,000& * 24 270
O x4 160,000 * 2K 320
02 =M=l 2,400 2,400 0
Os=2 AMs2dE TN 22 100,000& » 12& 1,200
Os2 dzzad TN 722 100,000& » 12& 1,200
MAXIAE &I 2 XI& 150,000 100,001 49,999
2 45,000
< 21,000
Al 84,000
101 14 Hl 53,753 64,796 A 11,043
= 16,126
= 7,526
Al 30,101
04 JIZHHZ22XREES 53,753 64,796 A 11,043
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OJIZtH 22X B (MAX2) 53,753
OJdles 79,4703 * 3Y « 262 « 63 37,192
= 11,158
< 5,207
Al 20,827
Osgae4+y
79,4703 « 3% « 1.5Hf + 5 « 63 10,729
= 3,219
< 1,502
Al 6,008
O4HE2E 5,262
-2z 47,921,000& = 4.50% 2,157
= 647
< 302
Al 1,208
-H2EE 47,921,000 * 3.43% 1,644
= 493
< 230
Al 921
-H3Iee 1,644,000& * 11.52% 190
= 57
< 27
Al 106
-1ESE 47,921,000& = 1.65% 791
= 237
< 111
Al 443
-MHEE 47,921,000& = 1.00% 480
= 144
= 67
Al 269
Onl=H| 570
—otH Hg= 90,000& = 3H 270
= 81
S 38
Al 151
-SH Zg= 100,000& * 3% 300
= 90
< 42
Al 168
201 Let24E] 82,200 25,200 57,000
= 24,660
< 11,508
Al 46,032
01 At 221l 80,200 20,200 60,000
OHAZ 83 29 500,000& = 123 6,000
= 1,800
< 840
Al 3,360
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6,000,000& = 10& 60,000

18,000
8,400
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OEE2= M 4,000,000& =+ 13l 4,000
1,200
560

2,240

= HnH

= M W

ONATXIL 2 NHMLE TAME
200,000& * 153l 3,000

900

420

1,680
2,000 5,000 A 3,000
500,000& * 1%l 500
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70
280
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450
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= Hn
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Ho
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>
to
H
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S
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o
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202 04l 2,000 2,000 0
600
280

1,120

= MW

01 2 0iHI 2,000 2,000 0
O=ZUHEI(ZS2A 23 0H])
20,0008 * 4% * 253 2,000

600
280
1,120

= N

206 M= Hl 12,047 7,005 5,042
3,614
1,686
6,747

= 0 W

01 = dl 12,047 7,005 5,042

,700& 103 12,047
3,614
1,686
6,747

= MW

28 A2 24H 959,345 946,978 12,367

201 fEt2E | 43,800 61,185 A 17,385
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02 2224 H| 43,800 43,800 0
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ONME& €3I € AH SANE=
550,000 = 12& 6,600
O A& Z&H KXl 30,000
OMEANEE KBS 30,000,000 30,000
307 QI2t0| & 915,545 794,800 120,745
05 QIZtRES 915,545 794,400 121,145
OEoIHEg2 2eed A 915,545,000 915,545
SN EEAILE XA X 1,100,000 1,100,000 0]
= 550,000
= 110,000
Al 440,000
401 A& HI L E0HHI 1,100,000 1,100,000 0
= 550,000
o= 110,000
Al 440,000
1 Al&H| 1,100,000 1,100,000 0
O YA 22 & ZA} 270,000
O&AHSHH| 20,800,000 20,800
= 10,400
o 2,080
Al 8,320
OES ZAtHI 249,200,000 249,200
= 124,600
= 24,920
Al 99,680
OOMSE ESAIE &AX Z2A 830,000
O&H S| 49,500,000 49,500
= 24,750
& 4,950
Al 19,800
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Al 312,200
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01 2= 146,642 155, 164 N8,522
OZTWU2L2L=E (LA 146,642
OANAS2R4g
10,952& » 202 * 30Al2F = 12€ 78,855
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